SM3H-2.8H and 2.9H - A3.notebook October 05, 2016

Questions on 2.8H HW? 2.7H HW is due
today...and we are quizzing today.
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1. Find h(-11) given that h(x)=2x" +9x—43.

(=10 AERY A\

%9(\’1\) aq -

2. Find r(-1) given that r(x)=-5x" = 3x

3. Find f(4), given that f(x) = x? + 11. 4. Find m(3) given that m(x) = log,81

» ) ) 4
5. Find g(=3) given that g(x)= x> +2x+4. 6. Find p(3) given that p(x) = 5% + 2x.
7. Find q(2) given that q(x) = 7% + 11x 8. Find s (%) given that s(x) = 12x

Set  Topic: Finding solutions to logarithmic equations
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Circle the expressions that are equal. Explain why they are equal.

1109525 m 19. 222, @@
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20. logv90, log3+ > —1092+10g45 21 log7( ), log;1 — log;49, - 2(log,7) I
» 4

Go

Topic: Solving exponential equations

Solve for x.

22. 427 = 64 23. 5% = —— 24, 3@x+8) = 729 @
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ogx =logl16+log4 14. log, 2x — log,(x — 2) = lo,

12. logs(3x —8) = logs13
20 a x=6

a. x=7 a. X = —
51318 =
3 c. x= —6
c oy = ¢ c.x—\e‘102°
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L/ zx_—; 3 125

« 2x = 10 (+5) _ o7 (x-3) x
25. (3) =128 y = 26. 36'2{”—5)216_ 3(x-3) 27 ¢ == :
Ay+H) = 2(x
1;-‘)WHD :—3‘—130. 125@*=4) = 250:+D) ‘

> 28. 37 =27 29. (E)x:_, .,{_ +
4 9 m

MATHEMATICS VISION PROJECT | MVP .

Licensed under the Creative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported license

8.50x11.00 in 4 Lii} b

Oct 5-9:42 AM



SM3H-2.8H and 2.9H - A3.notebook October 05, 2016

Logarithms Quiz #4: Growth and Decay

We begin with 1000 bacteria at t = O, and they grow at a rate
of 5% each day. Set up an equation and answer the following
questions.

1) How many bacteria will there be on day 10?

2) How many days will it take the bacteria to reach 1500?

Oct 5-8:21 AM
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2.8H Choose This, Not That
A Solidify Understanding Task

In each of the following equations, you are given two options for the next step.
Your job is to pick the most productive of the two options, solve the equation
and check your solution to be sure that you made the right choice. When you
are finished, go back and explain why the option that you did not choose was

either wrong or unproductive.

1. log2x =3
Option 1: 2x =log3 Option 2: 10% = 2x
\000 ="21%
2 2
S00 = X
Solution: x - 5w Check: ‘ D (’Z .(‘Qw) = 3

Why I didn’t select Option __| : OP'hOV\ 2 \cx\a ((OOO) - 5
was nier to work with. %=3V

2. In(x+3) =2
Option 1: Inx+4+In3=2 @ e=x+3
Solution: 4 L" Check:
Why I didn't select Option :
3. log:(2x+1) =2
Option 1: 3ixtl 52 @ 2x+1 =3
hot CorrecT
Solution: X - l‘t Check:

Why I didn't select Option :

Sep 29-2:08 PM
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4, log:(2x — 7) = loge 3

2x—7=73 Option 2: 53 =2x—7

Solution: X - 5 Check:

Why I didn't select Option :

5. 2log; x = logz 4

2x =4 Option 2: logs; x* = log; 4
x* =4

Solution: X = 9\ Check: X = 2

Why I didn't select Option :

6. Slnx=ln16+In4

Option 1: Inx® = In(16 - 4) Optigh 2: Ix=16+4

L

bnx°=
2 A%
X =4

Solution: X- Lf Check:
Why I didn’t select Option :
e
7. log, 2x —log,(x — 2) = log, 3 \ V'\(JDY
Option 1: log, (%) = log, 3 Option 2: ID:g{E:_';j = log, 3
X
6(’9)-' ﬁ: 3( %-2)
Check

Solution:
I = 3% -1
v 1 in'tseectﬂ;ﬂ:in _:—-a

+, & X
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8 —2= logxé
(o)
Option 1: x %= % Option 2: -2 =)agl —log,.9
- L
2775 -a-—-Log,ﬂ
X 2
X 2 = .3
X = - x
Solution: 3 Check: o q/ 9
Why I didn't select Option __: X= — X - 3
9, x = log; 10
UW Option2:  3* =10
LOC_') 4 10=X
© X
Solution: Check:

Why [ didn't select Option :

10. log, (x* + 1) og, 4 = log, 40x

Option 1: log, 16(x* + 1) = log, 40x Dptiony{@a 40x
2 -
| Loy % +1l0 =40x%

oy *-40xr o =0 o-C
g (2> -x + =0 BV

- Ix
Solution: Check:

g (@x- 4k x +2)=0 -‘2
Why dd%1@@@@} e
R [(v=2) (2%~} =0
QUx-2)2x-DO

Sep 29-2:10 PM
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2.9H Don't Forget Your FF| | Uhoh! Please login @
Login i
A Practice Understanding Task Password '

Solve each of the following equations. When

you have finished, sort the equations into categories based upon the strategy you used to solve

them. Name each category and then describe how to solve equations in this category.

1.

8.

1
log 3y = 2 2. —3= lﬂgxm

The rate at which caffeine is eliminated from the bloodstream of an average adult is
about 15% per hour. If the peak level of caffeine in the bloodstream is 30 milligrams,
the amount of caffeine left in the bloodstream t hours after the caffeine reaches its peak
level can be modeled by the function: C(t) = 30(0.85)%. After how many hours will
there be 15 mg left in the bloodstream?

x = logs 100 5. In(5x — 3) +In2 = In(24 — 2x)
log<(4x — 3) = log- 29

The Richter scale, which measures the magnitude of earthquakes is a logarithmic scale,
where the magnitude of the earthquake, M depends on the energy released by the
earthquake E. In 1994, an earthquake of magnitude 6.6 on the Richter scale injured
thousands of people and cost billions of dollars in damages. That earthquake could be

). Find the energy released by the

2 E
modeled with the equation: 6.6 = 3 log (1011_3

earthquake.

logs(3x +1) =2

Oct 5-8:15 AM
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9. log, x* = log,, 27

10. Ever wonder why suddenly your kitchen is full of fruit flies? Given good conditions,
fruit fly populations can grow at the amazing rate of 28% per day. If 25 fruit flies enter
your house to hang out on a piece of ripe fruit, the fly population after t days can be
modeled as: P(t) = 25(1.28)%. How long will it take for you to have 100 little fruit flies

buzzing around?

_1 12. 3* = 523
11. log,.5 = "

13. log> 2x — log,(x — 2) = log, 3 14. log; 2x = logs(x — 1)

15. In(x—-1)=3 16.  log(x?—2)+ 2log6 = log 6x
17. x=logs10 18.  2log, x +log, 2 = log,(5x + 3)

19. 3+ 7%*1 =346

Oct 5-8:19 AM
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Homework

Finish 2.9H "Ready, Set, Go"

Mar 28-11:26 AM
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